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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-7_0
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large discrepency for begining water status (129:288.0), set to 129 ml.

BEREBIEC (2610.0) HiZZEEC (2000.0) REK K, BHHE

#H[EHECE (2610.0 vs 3652.0) RS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=44 (2025-05-12)
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P3-7

BfiE) | BRI (D) | EE (EH/AR) | XK R

07:15 273 130.0 = {RRiB@07:15 Bz (RFAEEE)
08:25 273 130.0 =] {Ri%e08:25 B (KAL)
10:00 273 130.0 =l {Ri%@10:00 B3 (RAERSE)
11:20 273 130.0 =l RRiB011:20 B (RFAEESE)
12:25 273 130.0 = Ri%e12:25 B (REAERSE)
13:30 273 130.0 =] Ri%e13:30 B (REA{EREE)
14:50 273 130.0 E BRige14:50 Bz CGRAERSE)
16:10 273 130.0 = Ri%e16:10 B (REAERESE)
=it[2184.0 (8%) 1040.0 328053 %EC: 2080.0, PH: 6.0

EREBRK (273) S5TREA (241. 0) R FF, FIREM T & WEIERS X XER

ZRINLPRIERE147.0 ml.

REREEBIEC (2650.0) 5% TEEC (2000.0) REK K, HHE

##[EKECE (2650.0 vs 3578.0) RS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)
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P3-7_0, Day=43 (2025-05-11)
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Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-7

BjiE) | EBEETIK (F)) | EBE (BAH/K) | XS ERE

08:55 278 130.0 FA| 1BRi&@08:55 B (KAL)
09:55 278 130.0 FE| 1BRi&@09:55 Bzh (RAAEREISE)
11:30 278 130.0 =l RRiB011:30 B (RFAEESE)
12:45 278 130.0 S| {Rige12:45 B (REAERSE)
13:50 278 130.0 E| {Rig013:50 Bzh (RE{ERSE)
15:00 278 130.0 [Z=| 1Ri%@15:00 B3h (KRAHEESE)
Bit]1668.0 (6%) 780. 0 32 KEC: 2080.0, PH: 6.0

EREBRK (278) S5TREA (241. 0) R, FIREM T & WEIEIRS X XER

2RI\ PRIERE150. 0 ml.

REREEBIEC (2665.0) 5iZTEEC (2000.0) REK K, HHEE

##[EKECE (2665.0 vs 3645.0) RS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=42 (2025-05-10)
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